
 

 

 

 

 

 

BTA Towing Equipment 
Australia’s Towing Equipment Specialist  

 
 

 
 

 

 
 

 
 
 
 
 
 

 

Fitting 

Instructions: 
HAV01H 

Vehicle: Haval H6 Wagon 10-2016 On  

Towing Capacity 2000Kgs / 200Kgs (Towball Load) 

 

Fitting Kit: 4 – 12 x 40mm Medium thread Nuts, star and flat washers  

 

2 – 11/4” x 3/8” Bolts on wire, (No washers) nuts, star & flat washers  

 

2 – Dee shackles 

 

2 – Towbar rating labels  

 

***ECM Required*** 

  

 

 

1.  
Bumper Cut. Locate centre of bumper and cut 45mm either side. 

Cut 75mm up from edge of bumper bar base and discard cut out. 

2.  
Feed 1¼ x 3/8 wire to bolts into chassis via forward most holes. (1 either side) 

Align with rear most hole. (1 either side) 

3.  Mount Tow hitch via 12mm studs, fit nuts and complete with flat and star washers. 

4.  Fit 3/8 nuts to wires, complete with flat and star washers.  

5.  Tighten all bolts. 

6.  
Apply Towbar Rating Labels to driver’s side door sill and non-removable part of the 

towbar. 


